Set Theory Symbols and Definitions

Symbol |Name D efinition Example
i '} Set A collection of elements A= 127.8915,23,35)
= Ifsets =41,23} &EsetB=1{234
M B Intersection Cihjects that belong to set A and set B ch?‘n A% |{E‘-I=I {}23}8 {2.3,4)
; . . IfsetA =41,23} & set B= {456}
MBS [ Union Ohbjects that belong to set A or set B
. ! d then & OB = {1,2,2,4,5,5}
- SetA is a subset of set B if and anly i IfsetA ={abcl &EsetB ={ab,c
A =R | subset B b V= {ahel {a,b,c}
every element of set A is in set B. then A = E.
Seth is a proper subset of set B if and
n— B FProper only if every element in set A is also in If sets ={a,b} & =set B= {ab,c,d}
v * [ =uhset set B, and there exists atleast one then A _E.
element in set B that is not in set A.
- Subset A does not have any matchin If setA ={a,b} & setB={c,de,
% i7 B | Mot Subset ¥ g . .{ ' ‘ K
elements of set B. then A L E.
A 2 Superset SEth.IS a superset of set B if set A If SEt.ﬂ-«. ={d,ef} L&setB={derf}
contains all of the elements of set B. then & =E .
SetA is a proper superset of set B if
i B Froper set A contains all of the elerments of If setA ={4 56 & set B = {5 6}
Haeit B Superset set B, and there exists at least one then &~ 15,
element in set A that is not in set B.
Setd is not a superset of set B ifset A
— . If sets ={afcd} & set B={h,
M B [Mot Superset | does not cantains all of the elements of thjra‘n \ ﬂ{IE.' EARES th.T
s -
set B.
TN Fower set is the set of all subsets of A, If seta ={1,2,3} then Fia:=
FPiLAY | Power Set ) ) .
including the empty set and set A itself. T HATLA2E 130 1120, 01,30, 1,23
Ifsets ={234} &EsetB=1{234
“ — B | Equality Sets & set B contain the same elements. 12,34} (23,4}

then a=EF.
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